DANCOVER®

Manual

for
Patio Cover Malibu

2,55x3,75m

11-06-2021



Patio Cover

OWNER'S MANUAL/
Instructions for Assembly




235-2715cm

Area of installation requirement:

255cm

375cm




7 IC Ba-8

@o e

Ba-8




NO. IMAGE mm QTY NO. IMAGE mm QTY
Ba-1 120 X2 = x1
Ba-2 / 200 x1 5= 10-12mm | X1
Ba-3 & 100 x1
Ba-4 <4 270 | x4
Ba-6 S 190 x1
Ba-8 3 2000 X2
Ba-14 % 400 x1
Ba-A19a [X| 2500 X5
Ba-A20a 0 2500 X2
Ba-21 | x5
Ba-B5 2150 x1
Ba-B5a J 1542 x1
Ba-B12 2150 x1
Ba-B12a E 1542 x1
Ba-B24 2150 x1
Ba-B24a E 1542 x1
Ba-B25 2150 x1
Ba-B2sa | 1542 | xi
Ba-A23a = 2510 X6
Ba-P1L N x1
Ba-P1R ] x1
Ba-P2L b x1
Ba-P2R '] x1
Ba-P3L 5] x1
Ba-P3R 7} X1
Ba-P5 3 x1
Ba-B26 g STaxto | x4
Ba-B27 T M6x12 x43
Ba-B28 S M6 x43
Ba-B29 X STax24 | X8
Ba-B30 N M6 x15
Ba-B31 ) M6 x15
Ba-B32 Zon, sTs.5x40 | X15
Ba-B33 7 ST4x20 | %32
Ba-B34 ) M6 x47




235-275¢cm

180-230cm
<—————‘|E| _

30-45cm

o

=
1601

=

m
10.0°




X2

x8

v

Ba-1

Ba-B33

X2

Ba-8

x4

x8
X8

¥

S

Ba-4

Ba-B27
Ba-B28




x4




Ba-B27

x8

Ba-8

Ba-B28

@B@




-
@

(5]

o

x1

x1

x4

||
\

%

Ba-P1L
Ba-P1R
Ba-B33

[+11

x1

x1

x4
x4

¥

¥

S

Ba-2

Ba-P5
Ba-B27
Ba-B28




Y
J
]
Ba-B26 | & X2
10 [+11
[+11
Ba-P3L| © X1
BaP3R| @ x1

Ba-B33 | = X6




11

240-285cm

Ba-B24

3

12

i+ X4
@) @k
o

[
Ofe

Ba-B30

x4




x1

x1

x4
x4

N g

9

%

Ba-6

Ba-B26
Ba-B31
Ba-B32

14

3

Ba-B24a




15

S
I X3

|
OJC
_/
0

X3

16

Ba-B24a] | X1
Ba-B26 | &Y x1
Ba-B31 | © X3
Ba-B32 | %, X3

&



17

Ba-3 & X1
Ba-B25 v X1
Ba-B27 ¥ x1
Ba-B28 0 x1

18

[+11

BaB2a| «— | xi
BaB27 | § x1
BaB28 | ® x1




®
&

BaB27 | § X7

Ba-B28 QY X7

Ba-P2L | [§ x1
Ba-P2R| B x1
Ba-B33 v x4




21

Ba-B27

. ) 2
-~ Ba-A20a [J x1
¥
S

Ba-B28

22

)

Ba-A20a

Ba-B27

Ba-B28

) O




0 |IWw|w
X | X | X
3| &
[1+]

D || O
| AN | A
< |m o
G| ©C| O
M mm

24

///7

Cecdlé vorsle

uv

& 4

Diese Seite nach oben  BAYER Materials, Remankabie Qually!

£ste ladb facia amiba
Questo lafo su

rauvt

X6

Ba-A23a| ==




26

Ba-21 [¥] X5
Ba-B27 ¥ x5
Ba-B33 ~; x10




21

Ba-B27 X2
28
~ @
5@
N \@
W XY
Ba-B28 X7




29

y M
=

30-45cm

30

180-230cm

- —

+




31

X8

Ba-B30
Q LI X2 e

x8

re¥

Ba-B32 X8

32

00"
N
G
QQQ\D‘
S

Ba-B34 | & X47




DANCOVER®

Contact information

Head office:
Dancover A/S

Lyngevej 16A, Narre Herlev

3400 Hillerad
Denmark

For more information
please visit:
www.dancovershop.com

National contact

Denmark:
denmark@dancover.com

UK:
uk@dancover.com

Germany:
germany@dancover.com

France:
france@dancover.com

Sweden:
sverige@dancover.com

Finland:
suomi@dancover.com

Poland:
polska@dancover.com

Luxembourg:
luxembourg@dancover.com

Portugal:
portugal@dancover.com

Spain:
espana@dancover.com

ltaly:
italia@dancover.com

Switzerland:
schweiz@dancover.com

Austria:
austria@dancover.com

Norway:
norge@dancover.com

Nederland:
nederland@dancover.com

Ireland:
ireland@dancover.com

Belgium:
belgique@dancover.com




